FURUN®
OPERATOR'S MANUAL

MEMORY CARD INTERFACE UNIT

mopeL.  CU-300

FURUNO ELECTRIC CO., LTD.

www.furuno.co.jp






/N\ SAFETY INSTRUCTIONS

The user and installer must read the appropriate safety instructions before attempting to install
or operate the equipment.

A WARN'NG Indicates a potentially hazardous situation which, if not avoided,
could result in death or serious injury.

A CAU'“ON Indicates a potentially hazardous situation which, if not avoided,
may result in minor or moderate injury.

A Warning, Caution ® Prohibitive Action 0 Mandatory Action

Safety instructions for the operator

AN\ WARNING A WARNING

2 Do not open the equipment. ® Do not place liquid-filled containers on

the top of the equipment.
Only qualified personnel should work

inside the equipment. Fire or electrical shock can result if a liquid
spills into the equipment.

Immediately turn off the power at the
switchboard if water leaks into the f.% Do not operate the equipment with
equipment or something is dropped Q\; wet hands.

into the equipment.

Electrical shock can result.
Continued use of the equipment can cause

fire or electrical shock. Contact a FURUNO
agent for service.

Turn off the power immediately
if you feel the equipment is behaving

=

abnormally.
Immediately turn off the power at the
0 switchboard if the equipment is emitting Turn off the power at the switchboard if
smoke or fire. the equipment becomes abnormally warm
or is emitting odd noises. Contact a
Continued use of the equipment can cause FURUNO dealer or agent for advice.
fire or electrical shock. Contact a FURUNO
agent for service. &2\ Make sure no rain or water splash leaks

¥ into the equipment.

® Do not disassemble or modify the
equipment. Fire or electrical shock can result if water

leaks in the equipment.

Fire, electrical shock or serious injury can

result.




A WARNING

Turn off the power at the
switchboard before beginning the
installation.

Fire or electrical shock can result if
the power is left on.

A CAUTION

Observe the following compass safe
distances to prevent interference to a
magnetic compass:

Standard Steering
compass compass
CU-300 0.70 m 0.45m

Attach grounding securely
9 to ship's body.

The grounding is required

to prevent electrical shock.




TABLE OF CONTENTS

SYSTEM CONFIGURATIONS ...t v
EQUIPMENT LIST S e e e e et e e e e ees Vi
I Y/ 1 1 1\ [ I | N L 1
I o T Y o Y, o 10 (1 o 1
2 =Ty g (o o TN\ [ 10 T a4 o 2
I I @ V=T o == o 1Y [0 T g o P 3
2. WIRING L. e eaan s 5
2.1 Connection between One Processor Unit and One Memory Card Interface Unit ........ 5

2.2 Connection between One Memory Card Interface Unit and Multiple Processor Units
(Y= Ve W (=TT V1 € P 6
2.3 Connection between Two Memory Card Interface Units and Two Processor Units.....7
3. OPERATION ... e e e e e e e e e e e e e e e eaan s 9
T R = 7= 1Y (ol @ o 11 = 1o ] o [ 9
3.2 Priority Of Card DIVES .....ccccociiiiiiiie e et s e e e e e e e e e e e e ae e ae s 10
SPECIFICATION. ..t e e eaanas SP-1
PACKING LIST S, e e e e e eaa s A-1
OQUTLINE DRAWINGS. ...ttt ees D-1



SYSTEM CONFIGURATIONS

The Memory Card Interface Unit CU-300 connects to a processor unit of MODEL18x4C-BB/
19x4C-BB or GD-1920C-BB (NavNet VX2-BB) to provide a card drive(s) in a remote location(s).
Power to the CU-300 is supplied from the processor unit. Maximum four units can be connected
via a HUB. Note that the CU-300 can be connected only to the NavNet VX2 units which have the
following software version No.

C-MAP specification

Type Version No.

MODEL 18x4C-BB/19x4C-BB, GD-1920C-BB |1950026-02.01 and after

MODEL 18x4C/19x4C, GD-1920C 1950024-02.01 and after

MODEL 17x4C, GD-1720C 1950028-02.01 and after

NAVIONICS specification

Type Version No.

MODEL 18x4C-BB/19x4C-BB, GD-1920C-BB |1950025-01.09 and after

MODEL 18x4C/19x4C, GD-1920C 1950023-01.09 and after

MODEL 17x4C, GD-1720C 1950027-01.09 and after




Connection to single NavNet VX2-BB unit

Model 18x4C-BB/19x4C-BB
GD-1920C-BB

Power cable Pt

CU-300 MJ-A3SPF0026-050C or 100C | a7 Y
D NN

Ethernet cable S [y
MJ-A6SPF0017-050C or 100C i~ i & 95558 |

Connection to multiple NavNet VX2-BB units

Model 18x4C-BB/19x4C-BB
GD-1920C-BB

Power cable ___TT TTTTT T S

cuU-300 MJ-A3SPF0026-050C or 100C {7 T
et N O

] F— N

| =X sy

)] S Y

l;f ) B899 |

LCi’_f_f‘ff::f:ff:f:::::jYJJ

Model 18x4C-BB/19x4C-BB, GD-1920C-BB, |
T T T 7 i Model 18x4C/19x4C, GD-1920C :
i Model 17x4C or GD-1720C

LAN cable (CATS5,
STP, straight)

~ 1 Model 18x4C/19x4C, GD-1920C
Model 17x4C or GD-1720C

|
|
‘ i ]
| | Model 18x4C-BB/19x4C-BB, GD-1920C-BB,|
‘ |
|
|
|

— — 7

: Standard supply
—-—- :Local supply

HUB e : NavNet VX2

- — — : Option for NavNet VX2




Connection for two CU-300

Model 18x4C-BB/19x4C-BB Model 18x4C-BB/19x4C-BB

GD-1920C-BB GD-1920C-BB
R e L@ RN e Ty
- S 5 | L |
K K R
| e e &0
)] S D — Y
c 16 9%0ss | g 19 99955
kj:Li’ ,,,,,,,,,,,,,,,,,,,,,,,, . [ ‘,,L,
|

| Power cable |

‘ MJ-A3SPF0026-050C :

. CU-300 | or100C CU-300

| |

O L

| |

| |

| | LAN cable (CATS, | |

: i STP, straight) | |

|

| |

S HUB o

— : Standard supply
—-—: Local supply

********* - NavNet VX2

- — — :Option for NavNet VX2

Vi



EQUIPMENT LISTS

Standard suppl

Name Type Code No. Qty Remarks
Memory Card Interface | CU-300 - 1
Unit
Installation Materials CP03-27400 000-081-570 | 1 set | For5 m, MJ-A6SPF0017-050C,
(Select one.) MJ-A3SPF0026-050C, and
CP03-27401
CP03-27410 000-081-571 | 1set | For 10 m, MJ-A6SPF0017-
100C, MJ-A3SPF0026-100C,
and CP03-27401
CP03-27440 000-083-403 | 1set | For 5 m, MJ-A3SPF0026-050C
and CP03-27401
CP03-27450 000-010-245 | 1 set | For 10 m, MJ-A3SPF0026-100C
and CP03-27401
Optional supply
Name Type Code No. Qty Remarks
Hanger FP03-10201 008-539-530 1 set | For desktop mounting
Console Mounting FP03-10203 001-011-710 1 set | For bulkhead mounitng
Kit
Cable Assy MJ-A3SPF0026-050C | 000-157-944-10 | 1 5 m, power cable
MJ-A3SPF0026-100C | 000-157-945-10 | 1 10 m, power cable
MJ-A6SPF0017-050C | 000-159-705-11 | 1 5 m, Ethernet cable
MJ-A6SPF0017-100C | 000-159-706-11 | 1 10 m, Ethernet cable

Vil




1. MOUNTING

The memory card interface unit can be flush mounted in a console, or mountd on a desktop or the
overhead.

Choose a mounting location for the unit considering the following points:

 Leave sufficient space around the unit to facilitate checking and maintenance. See outline
drawing at the back of this manual for recommended maintenance space.

 Locate the unit well away from exhaust gases and other active gases.

» The location should be well ventilated.

» Choose a location where shock and vibration are minimal.

» Only the front panel is waterproofed.

Note: For flush mount or bulkhead mount, the DIP switch setting should be completed before
mounting. See page 8.

1.1 Flush Mounting

1. Prepare a cutout in the mounting location as below.

| 150.5+0.5 |
5 ‘ 143+1
3
¥
g |
N ]
| |
puy ‘
4 Y I T .
\
& |
v [
. o)
& <

2. Screw four threaded rod (M4x50, supplied) into holes on the front panel (reverse side).

Screw threaded f6ds into
these holes.

Rear view

3. Insert the unit into the cutout made at step 1.

4. Fix the unit with four spring, flat washers, and hex. nuts.



D Spring washer, flat washer and hex. nut

[ [
H = = - 198 _ #100

=
=

171

=

60

—— ¥

IS

1.2 Desktop Mounting
This method requires the optional hanger FP03-10201.
Name: Hanger (Type: FP03-10201, Code no.: 008-539-530)

Contents of kit FP03-10201

Name Type Code No. Qty
Hanger 19-023-3081 100-316-250 1
Self-tapping screw | $5x%20, SUS304 000-162-608-10 4
Pan head screw M4x10, C2700W | 000-163-167-10 4

1. Fasten four pan head screws (M4x10) to fix the hanger to the unit.
2. Fix the hanger with unit to the mounting location with four self-tapping screws ($5x%20).



198

#100

T
/U\ & 6 Fixing hole
f——r=
ed
© L
o o
— T
o
o
—
O
o)
.| L1/ Fi
! <
163+0.5 ~
171 o
#20 179 #20 42
= =
Gwmw_> = = mn A
s AN
=] M o /7
¥ [—c

1.3 Overhead Mounting

This method requires the optional kit FP03-10203.

Name: Console mounting kit (Type: FP03-10203, Code no.: 001-011-710)

Contents of kit FP03-10203

Name Type Code No. Qty
Mounting plate 19-023-3091 100-316-260 1
Pan head screw M4x10 C2700W 000-163-167-10 4
Hex. nut M4 SUS304 000-863-106 4
Flat washer M4 SUS304 000-864-126 4
Spring washer M4 SUS304 000-864-256 4




1. Prepare four fixing holes in the bulkhead whose dimensions are as shown below.

120+0.5

120+0.5

2. Fasten four pan head screws (M4) to fix the mounting plate to the unit.

3. Insert four studs at the top of the mounting plate in fixing holes made at step 1, and then pass
spring washers, flat washers and hex. nuts onto in that order from inside the bulkhead.

4. Tighten hex nuts to fix the unit.

TRWé

0
o
+I
o
N
—
7 0
= —J =
T I ™
. . Nut (M4)
120+0.5 : %| < 42 198 #100
S| o
=
AN :{
o
—
#20 171 #20

Dimensions for overhead mounting



2. WIRING

There are three types of connections:

» Connection between one processor unit and memory card interface unit.
» Connection between one memory card interface unit and multiple processor units
» Connection between two memory card interface units and two processor units.

Note that the total number of card slots is maximum four in a series.

2.1 Connection between One Processor Unit and
One Memory Card Interface Unit

Ethernet cable
MJ-A6SPF0017-050C or 100C

o

® ® ®

D REMOTE FUD DISPLAY

® | e ®
L KT
5 @ ® ® [( A)] ®
©0000
sl & ® ®
n_/
q .
Power cable i
Ground wire
MJ-A3SPF0026-050C or 100C IV-1.25sq

A 4
(Local supply) “s—”

Ground



2.2 Connection between One Memory Card Interface
Unit and Multiple Processor Units (Max. Three

Prepare the following cables and connectors:

« Commercial LAN cable (CAT5, STC, straight)

Units)

» Cable assy, MJ-A6SPF0014-010C/050C/100C/200C/300C (option for NavNet VX2)
» Converter connector, MJAGSERMD/TM11AP8-005 (option for NavNet VX2)

MJ-A3SPF0026-050C or 100C

Power cable
-~
( o
® ® ® ®
olb
8
= Or
® ® ® >
DDDDDD © 3
d } @O0
oo
® W ® ®

CARDSLOT

NavNet VX2-BB
Processor unit

Ground

Ground wire

Cable assy
MJ-A6SPF0014-010C/
050C/100C/200C/300C
(Option for NavNet VX2)

NavNet VX2 or
NavNet VX2-BB

LAN cable
(CAT5, STP, straight,
local supply)

Processor unit

NavNet VX2 or

NavNet VX2-BB
Processor unit

Converter connector
MJA6SRMD/TM11AP8-005
(Option for NavNet VX2)



2.3 Connection between Two Memory Card
Interface Units and Two Processor Units

Prepare the following cables and connectors:

» Commercial LAN cable (CAT5, STP, straight)
» Cable assy, MJ-A6SPF0014-010C/050C/100C/200C/300C (option for NavNet VX2)
» Converter connector, MJA6SERMD/TM11AP8-005 (option for NavNet VX2)

Power cable

MJ-A3SPF0026-050C or 100C _ Ground
Ground wire
o IV-1.25sq
© ® ® (Local supply)
® Qo] AN | ©7 o ®
O 1 & Lo
© © B - @ e a* °®
} Q@
T = & Converter connector
MJA6SRMD/TM11AP8-005
NavNet VX2-BB (Option for NavNet VX2)
Processor unit
\.
LAN cable _
(CAT5, STP, straight,
local supply)
Cable assy
MJ-A6SPF0014-010C/ HUB
050C/100C/200C/300C

(Option for NavNet VX2)

4 1
NavNet VX2-BB !
Processor unit
o -, Converter connector -~ (L(?ETga:)clial supply)
ryp— o 5 o MJAG6SRMD/TM11AP8-005 ' PPl
o ! (Option for NavNet VX2)
o [
o ® @ o
& -y,
e P o | Ty o *lc [ of o
[ ]e ©9oooo
ey o o
N n_/ Ground wire

IV-1.25sq
- y \_ (Local supply)
Power cable

MJ-A3SPF0026-050C or 100C




Setting of the IP address for the second memory card interface unit

When connecting two memory card interface units, change the DIP switch setting on the second
unit as below to change its IP address. Note that the second unit is exclusively for reading chart
card.

1. Unfasten two pan head screws (M3x8), a wing bolt and a washer for MJ connector at the rear
of the unit.

2. Unfasten four screws and the connector at the location shown below to remove the front
panel.

(= —_— N
®l 2 = oll®

) ) o | H
®° )k °I®

3. Unfasten four pan head screws at the inner front chassis to remove it.
4. Pull out the inner chassis to it.
5. Set the #4 segment of DIP switch S1 as below.

il

ON

N

Nofl

0
ale

— o J UL
)

PCB 19P1050

6. Re-assemble the unit.



3. OPERATION

3.1 Basic Operation

Card box
Card drive (Strage for two cards)

|
I=ml

Power lamp
(green)

Card drive

Insert the appropriate chart SD card (or memory card) for your area as below. For details of SD
cards, see the operator’'s manual for NavNet VX-2.

1. Open the card drive.
2. Insert the card (label side up) prior to turning on the power at NavNet VX2-BB.
3. Close the lid.

To remove the card, follow the instructions shown on the display of NavNet VX2 and then confirm
that the power lamp on the front panel lights. Do not read/write the data.

Power lamp

Lights (green): The power is on.
Blinks: The unit is reading/writing data.
Card box

You can store two SD cards here.

Note 1: When the connection between NavNet VX2-BB and memory card interface unit is wrong,
the NavNet VX2-BB searches for chart data in the SD card for 50 seconds, and then returns to
the normal operation. The display looks frozen, however normal operation will be restarted after
the search is completed.

Note 2: To prevent loss of card data if the power suddenly goes off, it is recommended that
you periodically back up data to an SD card.



3.2 Priority of Card Drives

The priority of card drives is automatically set after turning the power on. This priority order varies
depending on the number of card drives connected.

One memory card interface unit

(2) cu-300

®

NavNet VX2-BB
Processor unit

NavNet VX2 or HUB
NavNet VX2-BB
Processor unit

NavNet VX2 or
NavNet VX2-BB
Processor unit

Unit and available chart card and memory card locations
The numbers in the table refer to the corresponding units in the figure above.

Unit Available (?hart card Available memory card
locations location
@ ONORONO @
©) NavNet VX2 ONONONO) ©)
NavNetVX2-BB |D @ ® @ @
@ NavNet VX2 ONONONS) @
NavNet VX2-BB | D @ ® @ ®

10



Two memory card interface units

@

NavNet VX2-BB
Processor unit

HUB

®

NavNet VX2-BB
Processor unit

(8 cu-300*

*: For the second CU-300, DIP switch setting is necessary.

Unit and available chart card and memory card locations

The numbers in the table refer to the corresponding units in the figure

above.

Unit (priority)

Available chart card

Available memory card

locations location
©) ONORONO) @)
©) ONONONOD @)

11



FURUNO

1.1
1.2
1.3
1.4
1.5

3.1
3.2
3.3
34
3.5

CU-300

SPECIFICATIONS OF MEMORY CARD INTERFACE UNIT

GENERAL

Number of card slot
Card storage

Ethernet

Cable Connection
Card type

ADTEC

BUFFALO
HAGIWARASYS-COM

I/O DATA
Kingston
LEXER
PANASONIC

PQl
SANDISK

POWER SUPPLY

CU-300

1

2 SD-card

100BASE-TX/10BASE-T, auto-negotiation

RJ-45, STP LAN (CAT5)

(at February 2007)

AD-SDH512/1G/2G, AD-SDPS128M/256M/512M/1G
RSDC-S64M/S128M/S256M/S512M/S1G/S2G/G512M/G1G/G2G
HPC-SD256M/SD512M2/SD1GM2/SD2GM2/SD256 TP/SD512TP/
SD1GTP/SD128T/SD256T/SD512T/SD1GT/SD2GT
SD-128M/256M/512M/1G/2G, SDP-256M/512M/1G/2G
SD/1GBFE, SD/2GBFE

SD256/512/1GB-231

RP-SDR512/01G/02G-J1A, RP-SD128MBL1A, RP-SD256BJ1A,
RP-SDK512/01G/02G-J1A

QSDS-256/512/1G/2G

SDSDB-256/512/1024/2048-J60, SDSDH-512/1024/2048-903

12VDC: 0.14 A, 1.7 W or less

ENVIRONMENTAL CONDITIONS

Ambient temperature
Relative humidity
Degree of protection
Bearing vibration

CE marking

COATING COLOR

-15°C to +55°C

93% at 40°C

IP22 (IP55: flush mount or front panel only)
IEC 60945-4

IEC 60945-4

N3.0

SP -1 E3550S01A



19AZ-X-9852 -1 1/1
CU-300-G5/G10[GENERAL ]
NAME | OUTLINE | DESCRIPTION/CODE Ne [ Q°TY ]
UNIT
\ 10 f ..
\ CU-300 1
MEMORY CARD INTERFACE UNIT 60 ‘EE
i | 000-010-244-00 |
INSTALLATION MATERIALS CP03-27440/27450
W MJ-A3SPRO026-050C |
CABLE ASSY MJ-A3SPF0026-050 1
) - | 000-157-944-10 *
LooM 000-149-445-00 D
M MJ-A3SPF0026-100C
A e
B e MJ-A3SPF0026-100 1
CABLE ASSY. =  000-157-945-10 | 1)
000-149-446-00
<> cPO3-27401 | 1
INSTALLATION MATERIALS
| 008-539-520-00 |
DOCUMENT
EA* 77777777777777777777777777777777777777777777777
1

OPERATOR™S MANUAL

000-165-406-1*

(1)

*1)INDICATE SPECIFICATION SELECTIVE ITEM.

/

TWO TYPES AND CODES MAY BE LISTED FOR AN ITEM. THE LOWER PRODUCT MAY BE SHIPPED IN PLACE OF THE UPPER
PRODUCT. QUALITY IS THE SAME.

DIMENSIONS IN DRAWING FOR REFERENCE ONLY.

19AZ-X-9852

A-1


hmaki
テキストボックス
A-1


FWURuUUNO CODE No. | 008-539-520-00 | 0360-X-9403 -1
TYPE CP03-27401 1/1
INSTALLATION MATERIALS
NO. NAME OUTLINE DESCRIPTIONS Q" TY REMARKS
1 ? 3 |wsusas ]
HEX.NUT N ;
=3 CODE | . ]
NO. 000-863-106-00
¢ 9 . ML{ - -S-L;é;(;;‘ ....................
2 | FLAT wASHER @
CODE | . ]
NO. 000-864-126-00
5 Wa susaos |
8 SPRING WASHER @
CODE | .teieeieemennaasd
NO. 000-864-256-00
50 M4X50 SUS304
e T IOV
4 | THREADED ROD OIAEREERE T @4 | M4XS0 SUS304
CoDE | 000-162-679-10 |
NO. 000-147-539-00
/

TWO TYPES AND CODES MAY BE LISTED FOR AN ITEM.

PRODUCT. QUALITY IS THE SAME.

DIMENSIONS IN DRAWING FOR REFERENCE ONLY.

THE LOWER PRODUCT MAY BE SHIPPED IN PLACE OF THE UPPER

03G0-X-9403


hmaki
テキストボックス
A-2


D-1

-aln ““03 JI1¥1a3713 aNn¥Nd

ONIMYYQ ANILNO | —00H-0€0-61 oymy

V 00905550 opepg

mz:o_z d0L318VL) LINN FOVAYILNI QYYD ANONIN gy

ml g
E__w_" m—wm;_ &l TS

¢F 00Ss1>001
SCF 001571>09
G'LF 0G5

TONVAI0L NOISNING
(WU 29| (WWY GAKR

| J1avL L%

K44 WNSTY L0.ET 08T (o
(BETE) Y ) TL-4A)1-U-(1FX 4 ONIVLT 20, ®F gy
00€-N g IMVSYWYA'L £0, G "% r«z.ﬁ_
\
T
Ve=> — \
| -
001# _ 261 v
vV M3IA
VY
° {[ °o [®
& ®
[ ] @ @ @ ] ®
7 MuORlaN / \
HOLJINNOD LINJIHLT AvNING3L N9 104N0S
4 L¥xCH MY L-) Fuy — 4 44 =

"LINN FHL ONIXIA 404 0¢XGe SMROS ONIddVL ISn ¢

JONVYYITO F0AYIS NN # T

‘03141934 LON SI'HIIHM SNOISNINIQ 40 JONVYITI0L SALYOIONI | 318vL 1
10N

CRCOEHBZEOCXGENMA L AAALY LY +RCYHNE (€
CCEREPBEYA-AERNELHE (2
CEXRNTEHFVELOUZE (T

g X
(@)}
N
oz 6LL oc#
o L1
N S'0FL9lL
W | | A
g H
o
2 .
= %
@)
STI0H INIXI4
MBEgO—1



hmaki
テキストボックス
D-1


D-2

-adln “0J JI1¥13313 aNnANd

| J1avl =¥

INIMYYQ INFLNO | -0021-060-61 opgy| V —£00-0S5C0 oy W gXYIN OYIHNING 40 SSINMIHL ¥
(LNION QV3HI3N0) LINN J0VINT V0 ASONIH gy o T on] T e ‘LN THL 9NKIA 404 SLAN #W 350 ¢
\ 1uns3- . g9 R . .
(BEHY) Y )T L6740 —1U _w_ww : ozw_d% M M_.QN%& JONVIVIT0 005 IR 2
AL N Li2 S| "0314103dS LON SI HOIHM SNOISNINIQ 40 FONVYITOL SALVOIONI | FigvLl 1
005-M gy DVSVIVAT 10,51 o 310N
CCERUWUWGYERMEMMNE (i
CR2OHF R AL NRIINE (€
O EREPERZYA- L\ ENELPE (2
] "SR TEHEBORLOUEE (1
I =
- 0z# | 1/ oz#
/
7 L
3 |
< Hv \Wh|.. \ w ebRI0js pIBO @S “be..as\tuﬁ
| | p— \ \! == = Dmmmma
. z \k
/" :
- > N |
Q0 L# SIN 861 cv sl ke o G0F0C!
§ SLYN—Y = — =
REN . —
VX o = i mm_
< o
™ e
O
o
HOLOINNOD LYNYIHII /TYNINYIL (N9 394N0S
CF 00Gs71>001 L£L¥CH A¥L-) FUy — £ 4 4 rCEE
SCTF 00157>08
S'LF 0G5
JONVHII0L NOISNING (NLS INIK
LWy 27 | (W) GARR A B YN —F



hmaki
テキストボックス
D-2


D-3

"all 03 J1¥19313 aNn¥nd

ONMYIQ INTILNO | —9001-090-6] oggy] ¥ —P09-0SGED  oygeg
(INNOW HSNT4) LINN JOVAAIINT QYO AMOWIN gy gﬂ w.o. 2.._ m.\ b s SLAN ANV WS + 'M'd ¥ ‘SANLS 0S¥y 35N ¢
ER¥ S 0.6 9 g JONVEVIT 303S NNAININ #
BEVE) Y)TL-40)d - Lh-(1F/ 4 ONDVLL 20,5 P4 gy "(134103dS LON SI HOIHM SNOISNIWIO 40 JONVYITOL SALVOIONI | T1gvL )
00E-M g DVSVIVAT 20,57 o AN o
CR2OHEHFN ALPN CSHEV N
BHECN YNk BROSXYNRMNE (€
_ ) G ERIRLBEY A - L ERELEE (2
1B CEPNTENFTRLOUIE (T [
- /,J T X
—M — ) ¢e) ,;FHIIH|IIH%;
<ﬂv ] \\ W _F. 'h—
. eBziop preo s PpiBo Aloweul / yeyo o)
N 1/l
B
Gyl 0c¢ (44 B
00l # 861 _ — = \
mz‘wzg,@\soma MOLOINNOD 1IN ¥ WE; _\ ,_
KM - , ﬁNEibL/ v EY, g
o L / / g
N A [ |
| WW o
I S _ TN
| X ix W
, UNIREL N9 WS maEE | i
A\ /7 N Fuy — 4 40 v CHE
S
lFCv 1 oL cF 00Gs1>001
C0TC0OCL GCF 00Ls1>09 =l v
Q1F 0Gs
JONVYI10L NOISNANIO
(WWy 27| (WW) $RERL
TR
! =] ! 14 ! € ! c

! 1



hmaki
テキストボックス
D-3





© FURUNO ELECTRIC CO.,, LTD.

9-52 Ashihara-cho,
Nishinomiya, 662-8580, JAPAN

Telephone : +81-(0)798-65-2111
Fax . +81-(0) 798-65-4200

Pub. No. OME-35501-A
(HIMA ) CU-300

ESF

(Elemental Chlorine Free)

The paper used in this manual
is elemental chlorine free

« FURUNO Authorized Distributor/Dealer

A MAY 2007

*00016540610 *




	SAFETY INSTRUCTIONS
	TABLE OF CONTENTS
	SYSTEM CONFIGURATIONS
	EQUIPMENT LISTS
	1. MOUNTING
	1.1 Flush Mounting
	1.2 Desktop Mounting
	1.3 Bulkhead Mounting

	2. WIRING
	2.1 Connection between One Processor Unit and One Memory Card Interface Unit
	2.2 Connection between One Memory Card Interface Unit and Multiple Processor Units (Max. Three Units)
	2.3 Connection between Two Memory Card Interface Units and Two Processor Units

	3. OPERATION
	3.1 Basic Operation
	3.2 Priority of Card Drives

	SPECIFICATIONS
	ＰＡＣＫＩＮＧ　ＬＩＳＴS
	OUTLINE DRAWINGS



